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DAILY Maths QUIZE

1.3 Ry & o Bt g2 12 et 81 T a1 ST 1: 25000 B | AR TR &
M & o1 B _CRT (@Tﬂ ﬁ) % /The distance between two places is 12 km. A map
scale is 1 : 25000. The distance between the two places on the map (incm ) is -

a. 36 b. 60 c.48 d. 24
2. U% IgHad o H 30 IR 3R 12 A €, o sl &t TS 8/The no of
vertices in a polyhedron which has 30 edges and 12 faces is -

a. 20 b. 24 c. 12 d. 15
3. &1 T3t BT HCF 28 B 3R ST Lem 336 B 1 TS Tep T 112 ©, d g&sl
=T _Eﬁ"'ﬁ /HCF of two numbers is 28 and their LCM is 336. If one No is 112, the
other no shall be -

a. 84 b. 98 c. 60 d. 56
4.10 % 9+ IH W@T\’rﬁ Akt ATd ﬁﬁﬂll/Find the sum of all even nos till 10.
a.29 b. 30 c. 27 d. 28
5.9YH 10 9H W@T\?ﬁ BTN ATd W/Find the sum of first 10 even nos -

a. 112 b. 100 c. 120 d. 110
6. T 3MTGH! U o1 W U fhdTa &7 3/8 UFT Ugdl § 3R g &1 2 &1 4/5
ygdr g1 afe anft o srufda gst &t TRedm 40 §, & T H fhd- ¥ §2/A man
reads 3/8 of a book on a day and 4/5 of the remainder on the second day. If the no
of pages still unread are 40, how many pages did the book contain ?

a. 350 b. 340 c. 330 d. 320
7. 1 TRe3ft T UHET 5/4 €| Tfe Ueh T 5/6 §, A GURT ST T 82/The
product of two nos is 5/4. If one no is 5/6, what is the other no ?

a.1/2 b.2 c.2/3 d.3/2
8. B Il T TSt T-AT 3026 31 5053 B! AHIIT B WR HHE: 11
3R 13 Y aaTﬁ?/Which greatest no will divide 3026 and 5053 leaving remainders
11 and 13 respectively
a. 60 b. 45 c. 30 d. 15
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